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ECONOMICS
( Honours Elective )
Paper : ECO-HE-6026
( International Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the gquestions

Answer eithér in English or in Assamese
1. Answer the following questions : 1x10=10
T PR Tl fral

(a) What is international trade?

mﬁ@wﬁwﬁs?

(b) What is ‘i\n:ter-regional' trade?
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Write one assumption of Ricardian
theory of comparative cost.

RIS G T4 ST b1 ST

Mention one essential element of
Heckscher-Ohlin  theory of inter-
national trade.

ER-R wEEg AW o9hE 96l
SR Seqe T o

What is Leontief paradox?
frefor i &2

Define multinational enterprise.

qeEIioe e ik faar |

Mention one merit of free trade.

I& WA <01 R By 0

What is protectionism?

TR R ?

Define flexible exchange rate.

RSNy RfATE T vige o |

What is foreign exchange market?

e Rfm wr R

( Continued )
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2. Answer the following questions : 2x5=10
wore fan eppiyRd e fi

(a) Mention two differences between inter-
- regional and international trade.

R S SRR AT Yo aeew Temy
1

(b) Write two assumptions of Heckscher-
Ohlin theory of international trade.

ER-SPe WRNgy AW oghE o
SfSyEen SeEd 90 |

() What is international product cycle
theory?

gEEfoF SeAme v SGo! 3 2

(d) Mention two causes for the downfall of
Bretton Woods system. '

@B T TR T o1 PR BCEY 4 |

(e) What is financial globalization.
REw oS R 2
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() Distinguish between tariff barriers and
5x4=20 non-tariff barriers.

3. Answer any four of the following questions :

Wmﬁ@mvlﬁﬁﬁ‘%@ﬁm:

(a) What are the reasons for international
trade? Explain.

TR AER FRIEE B2 @

(b) Discuss the importance of Ricardian
theory of comparative cost in developing

% WWW@&WW%@
Ay a1

4. Answer any four of the following questions :

10x4=40

woq 2R R e wifeR S

(a) Explain the Ricardian comparative cost

countries.
TN, - theory of international trade. 10
e (TS A W
- - | R SRABT IS TR I S
b A | AT 4T |
Bri i alization theory of | | L \
(e inI::riga:i};I:zntr?;eloc ation theery © (p) Discuss the superiority of Heckscher-
: : Ohlin theory over Ricardian theory of
IEE T AR TR OG! 253 international - trade. Mention the
ST 4T | limitations of Heckscher-Ohlin theory.
) 5+5=10
(d) Distinguish between free trade and vy wigeiee JME ogete m—w’ﬁm
protection. OGN  cTdel WAL S | =N R-w e
e IRw o kA aﬁ%ma TS {13 TGOR NTRROrTR TEY 110 |
Rz
(c) State and explain the technological gap
fe) Distinguish between fixed and flexible - model of international trade.- 10
exchange rate. wEEifes AN FfERTR ¥ watt TEe
%3 o T R 77 TR 14T @i o N SF I F0
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Critically discuss the product-cycle
theory of international trade.
uEEfeE AR BeomE 5 O
TRICATAEAFSICE A 4 |

Compare the effectiveness of tariff
and quota as a weapon of trade
restrictions.

e Pz =ifen o v% 9= AR
AR IER FRFIRE o F9

Analyze the effects of tariffs in a partial
equilibrium system.

A ST IR WS ASd ReET 40 |

How was equilibrium exchange rate
determined wunder gold standard?

Mention the reasons for the collapse of -
5+5=10

the gold standard.

Ffe ©TY Qo R T @
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Discuss the main reasons for the
international financial crisis. What are
the various effects of international
financial crisis?

REfes REW by [ FRPHR SAREs
M EEee R8 weby RfSw: deremz
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5+5=10
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